
Table of Contents

Baya
Outdoor Hammock Lounge Setup Instructions

Designed in Austin, Texas  |  Made in China

Baya Frame Assembly.................................................................................................................Page 2
Baya Table Assembly...................................................................................................................Page 3
Baya Final Assembly....................................................................................................................Page 4

Upper arm with brace joints x3

Table Section x3

Legs x3

Lower arms x3

Base joint x1

Parts Included

Baya Straps x6

Hardware Pack x1



WARNING: Max weight capacity is 350 lb per side. USE HAMMOCK STAND WITH CAUTION. INHERENT RISKS EXIST. Do not 
modify the stand or hammock in any way; modification may result in failure or injury and will void your lifetime warranty.

Baya: Setup Instructions Page 2

Baya Assembly

Carefully remove and unpack all parts from the crate.1

Baya Frame Assembly

Insert the male end of all three leg assemblies into the 3 
way center joint. Secure in place with the 60mm M8 Bolts.

4

Insert the male end of the tear drop legs into the female end 
of the “Shepherds Crook” (upper arm). Secure tube in place 
using a 60mm M8 bolts. Repeat 3 times.

2

Slide the female end of the Lower arm tube onto the leg 
assembly. Insert and tighten 2 bolts into the lower set of 
holes on the reinforcement bracket. Repeat 3 times.

3



Baya: Setup Instructions Page 3

Align all three table components in a triangular formation. Secure the table to the welded support tubes with 
six 18mm M8 screws.

1 3

Tie the table pieces and the center hole support wings 
with six more 18mm M8 screws.

4

Baya Table Assembly

Carefully slide all 3 parts together, ensuring that the 
support tube and tabs nest properly.

2

WARNING: Max weight capacity is 350 lb per side. USE HAMMOCK STAND WITH CAUTION. INHERENT RISKS EXIST. Do not 
modify the stand or hammock in any way; modification may result in failure or injury and will void your lifetime warranty.



Baya: Setup Instructions Page 4

With two people, lift the full table assembly, and place it onto 
the frame assembly, as shown.

Carefully place the center circle over the hole, 
aligning the tabs with the gaps in the center hole 
supports. Rotate to secure in place.

1 3

Connect two nano-weave straps to each leg loop.4

Connect each carabiner end of your 
hammock to the desired position on the 
nano-weave straps. Sit back and relax!

5

Final Assembly

Secure the table in place with twelve 25mm M8 screws. Four 
at each corner, securely connecting the table to the legs.

2

WARNING: Max weight capacity is 350 lb per side. USE HAMMOCK STAND WITH CAUTION. INHERENT RISKS EXIST. Do not 
modify the stand or hammock in any way; modification may result in failure or injury and will void your lifetime warranty.


